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L solve: x(y?+2z)p—y(x* +z)q=z(x* - y?). [0g] cos L3
2. Form the partial differential equation by eliminating the arbitrary function from CO3| L3
f(x2+y2,z—xy)=0. [07]
25 ) . oz ) CO3| L3
3. Solve =sinxsinyfor which—=-2siny when x=0and z=0 when
oy [07]
y=(2n +1)% :
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4. Solve % =z given that when y=0,z=¢"and azay =e .
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Derive one dimensional wave equation in the standard form.

The area of a circle (A) corresponding to diameter (D) is given below.

D
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A

5026

5674

6362

7088

7854

Find the area corresponding to diameter 105 using an appropriate interpolation formula.
Use Newton’s forward interpolation formula to find Y, given,

y(20)=512, y(30) = 439, y(40) = 346, y(50) = 243.
Construct the interpolation polynomial for the data given below using Newton’s divided

difference formula

X 2 4 9 10
Ji€9) 4 56 711 980
Hence find f(3) and £ (5).
Derive one dimensional wave equation in the standard form.
The area of a circle (A) corresponding to diameter (D) is given below.
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Use Newton’s forward interpolation formula to find Y, given,

y(20)=512, y(30) =439, y(40) =346, y(50) = 243.
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difference formula
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Hence find £(3) and f(5).
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